THRX R AO#ETFRH1910)

X 4 T4 5 £ i HHE
FHREMX BT 52 51 103 47
FREMX L ET 23 23 46 18
FHREMX {HET 19 20 39 17
FHE#KX ABET—TH 16 17 33 15
FHREMX ABTZTH 19 21 40 12
FHE#KX ABT=-mTH 24 29 53 25
FHREMX EEL) 32 35 67 30
FHE#KX 45 HT 46 48 94 42
FHREMX JTHT 47 70 117 49
FREMX SLHET 41 45 86 39
FHREMX ZHHHET 21 23 44 16
FHE#KX SEEMT 24 25 49 23
FHREMX T FHHET 43 54 97 41
FREMKX AT 54 57 111 53
FHREMX JEET 63 62 125 61
FREMKX 2R 29 42 71 32
FHREMX FRAEET 23 31 54 30
FHE#KX fin E BT 68 91 159 71
FHREMX LN 380 435 815 336
FHE#KX TS 114 143 257 113
FHREMX & A 84 124 208 90
FHE#KX fga H 788 858 1,646 618
FHREMX L 107 121 228 77
FHE#KX F=va 59 67 126 46
FHE#X RIBBTRER 320 330 650 228
FRHE#HX FFRHET 399 515 914 323
FHREMX &t T 61 70 131 57
FHE#EX /10 466 488 954 289

FHEHMXE 3,422 3,895 7,317 2,798
HE#X AREBT KA 292 321 613 214
HEHX AEER 104 113 217 72
HERX hi&@ 140 135 275 90
HEHX RE 108 136 244 81
HERX i 85 118 203 87
HEHX i1l 16 17 33 10

HEHXE 745 840 1,585 554
RiFh X R HET 460 564 1,024 417
KT #h X 03+ BT 190 238 428 160
RIEh X B¥ 360 372 732 275
KT b X sk 64 86 150 48
KiFHh X EE 71 74 145 48
KT X rtHE 149 165 314 96
KiFHh X TaE 171 159 330 91
KT X TR EET 148 156 304 120
KEFih X F]ALF 178 191 369 146
KiFHh X HARF 298 367 665 301
KiFHh X AT 376 438 814 382
RIEHh X REER 6 46 52 52
KiFHh X AHEYNE 87 107 194 58
KiFHh X HIUVHE 510 560 1,070 367
RIEEHh X el 434 469 903 259
K iEh X G550 0FY 5 14 19 19

KiFh X 5t 3,507 4,006 7,513 2,839
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X £ THX# 5 ES B HHE
SLEHX FRET1X 86 128 214 105
SITEHX FRET2X 395 447 842 362
SLEHX FXRET3X 213 211 424 180
SLEH X IJfEE—TH 253 346 599 257
SEH X MIEEZTH 260 302 562 217
IL{EHX AfEE=TH 500 514 1,014 363
STEHX IMEEMTAH 125 182 307 135
SL{EHX =HT 344 366 710 277
SLEHX )2} 252 289 541 220
SLTEHX [l 641 680 1,321 481
SLEHX FTREThH 48 147 152 299 137

SER X ET 3,216 3,617 6,833 2,734

RIIPHET P=E~ 84 92 176 53
KIJINAHET INER 66 78 144 50
KIJIAHET k3l 229 253 482 183
KIINAET et 48 51 99 47
KIIPHET RIA LWL 107 122 229 72
KINARET 1IEHth 77 87 164 54
RIIPHET = H 116 126 242 80
KIINAHET =5 140 138 278 90
KIIPHET TE 229 251 480 174
KINAET BISIE! 34 59 93 93
RINAHETE 1,130 1,257 2,387 896

28T f=H 55 51 106 32
=N A 36 39 75 18
21|87 Fi5 32 30 62 15
2JIET RKEN 115 141 256 82
=L BBy 56 66 122 42
28y 1EE 181 184 365 131
21|87 INE)I 163 159 322 113
=L s 144 150 294 104
28T 2i8 43 43 86 38
=N IR 72 90 162 51
21|87 AEK 29 32 61 25
21|87 g 23 21 44 11
21|87 hvA= 45 34 79 18
28y £H 45 56 101 24
28T 1tE 36 35 7 20
28T IR 126 135 261 66
=91 RE 54 63 117 27
=N BEFH 87 108 195 54
21|87 £+ #h 323 196 519 270
L) HER 4 25 29 29
2| BTET 1,669 1,658 3,327 1,170
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K % 2 ET Kiz 121 130 251 66
K % 2 HET Bi¥h 10 12 22 11
K% EET [GEis 116 112 228 64
K% R HEFE 60 69 129 40
R % EET H 46 44 90 23
K %R AR 69 75 144 33
R % EET EEBIE 45 46 91 21
K% R i 72 64 136 39
K% EET puipE 59 67 126 38
K% R i 118 118 236 62
K % 2 ET 1B E 89 68 157 39
K% R Bsia 57 67 124 35
R % EET it 110 90 200 50
R % EHT b= 380 418 798 256
K% RRTET 1,352 1,380 2,732 777

IR Z HT =gl 55 54 109 28
K S H] Lt 147 143 290 75
IR Z HT KK 129 140 269 73
FIRZHET INETR 61 63 124 29
PR Z HT FFET 82 101 183 52
K ST 8L 165 176 341 94
PR Z HT [REE 182 189 371 92
K ST HFH 238 243 481 143
FRZHET = A 63 77 140 37
K ST Bith 1 1 2 1
K S HT pN::i 56 63 119 32
K ST K& 86 83 169 48
K S HT = 72 66 138 27
E2R:EL A0 53 55 108 24
K S HT ERi 70 84 154 34
R ST ET 1,460 1,538 2,998 789

KIJIET & 184 212 396 145
KIJIET AT 67 76 143 57
KIINET FRII 105 110 215 66
KIJIET HF0O 123 130 253 55
KIINET R 101 126 227 66
KIIET JIlEE 115 120 235 69
KIIET HOAE 1 1 2 1
KINET Eqng 170 183 353 102
KIIET sz 239 265 504 181
KIJIET e 102 121 223 65
KRIIET RHEAK 57 53 110 34
KIIET JIER 112 105 217 72
KRINETE 1,376 1,502 2,878 913
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X 4 T4 5 £ i HHE
N %) 131 151 282 90
¥ASHET LR 64 61 125 38
¥AEET T4 239 286 525 175
¥AHET T 86 92 178 62
FASHET %= 49 49 98 32
¥AHET EiR 73 83 156 49
¥AEET a5 99 90 189 56
¥AHET IR 131 133 264 72
¥AEET ABR 43 40 83 28
¥AHET By 103 122 225 80
N 5 105 117 222 72
FAHET b1 102 100 202 68
¥AEET o)l 63 63 126 42

FAHETET 1,288 1,387 2,675 864
ZEHr BI\AE 684 766 1,450 573
ZEBH B\ &E 261 265 526 207
ZEHr ES 830 905 1,735 676
ZEHr KE 511 527 1,038 371
ZEHr = 105 110 215 96
—EHy AN EIS 116 147 263 96
ZEHr AT 196 242 438 158
— BT EHF 97 116 213 78
—Br i H 72 103 175 64
ZEH =5 63 69 132 42
ZEH M 77 80 157 51
—EBH s 44 43 87 34

—BErEt 3,056 3,373 6,429 2,446
B ET B 569 614 1,183 443
BILACHT f2#0 73 64 137 55
BILACHET EE 947 969 1,916 732
BILACHT HE 72 79 151 49
BILACHET X 70 68 138 57
BILACHT Fin B9 194 217 411 125
BILET EIN 165 188 353 130
BILACHT HRAR 106 100 206 74
BILACHET RKAR 220 223 443 164
BILACHT iLES 181 213 394 170
BILACHET ER 65 91 156 70
BILACHET T4 14 15 29 10
BILET E)A 121 112 233 83
BILACHET ThE 10 12 22 9
BILHET JIREF 105 117 222 69
BILET A 6 7 13 7

HILAHATET 2,918 3,089 6,007 2,247
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LA ET AR 262 303 565 241
AT WA 502 524 1,026 402
I ACHT =BIN 65 71 136 47
(AT b 96 101 197 67
Lt AT I3 64 66 130 53
AT Bea 145 172 317 148
X ET AR—X 265 279 544 191
I FCHT ARZR 403 452 855 345
L ACHT AR=ZX 146 175 321 123
AT S 197 210 407 182
I ACHT NI 116 149 265 125
AT V= 135 136 271 106
K ET B[ 150 159 309 152
AT [ika) 141 152 293 92
X ET BARAR 54 48 102 36
AT gl 50 49 99 27
LA ET %) 72 69 141 51

L ETET 2,863 3,115 5978 2,388
Y 28,002/ 30,657 58,659 21415
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